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QUESTION 1

Identify four tasks that you can perform using Oracle Workflow in Oracle E-Business Suite Release 12. (Choose four.) 

A. Automate business processes. 

B. Generate account code combinations. 

C. Approve standard business documents 

D. Send notifications using Advanced Queuing. 

E. Generate inventory item numbers using item generator workflow. 

F. Integrate with third party business systems that are not on a company network. 

Correct Answer: ABCF 

 

QUESTION 2

Identify the purpose of using Material Status controls. 

A. to permit updates to the Item Master record 

B. to prevent unnecessary cycle counting in an inventory organization 

C. to define the transactions that are permitted for an inventory organization 

D. to select the transactions that are permitted to use the inventory on-hand quantity 

Correct Answer: D 

 

QUESTION 3

You need to set up a Material Review Board (MRB) subinventory for storing defective goods that are awaiting
disposition. The management team does not want the material in the MRB subinventory to be considered by the
Material Requirements Plan (MRP). Which is the key flag in the setup that instructs MRP not to account for the material
in the MRB subinventory? 

A. Nettable flag deselected 

B. Planning flag deselected 

C. Quantity Tracked flag selected 

D. Allow Reservation flag deselected 

E. Asset Subinventory flag deselected 

Correct Answer: A 
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QUESTION 4

The Available to Promise (ATP) algorithm uses three time fences. 

They are Past Due Supply, Past Due Demand, and _____. 

A. Finite Supply Time 

B. Infinite Supply Time 

C. Planning Horizon Time 

D. User-Defined Lead Time 

E. Accumulative Lead Time 

Correct Answer: B 

 

QUESTION 5

Your ordering process starts with a requisition. Into which two documents must the purchase requisition document be
transformed within Oracle Applications? (Choose two.) 

A. Return 

B. Receipt 

C. Quotation 

D. Purchase Order 

E. Request For Quotation 

Correct Answer: DE 
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